Yy

o

MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA
COUNTY ' METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

KML Windows, Inc.

23 Buchanan Court

London, Ontario, Canada N5Z 4P9

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Aluminum Clad Outswing Wood French Door-Impact

APPROVAL DOCUMENT: Drawing No.1228A, titled “Aluminum Clad Wood French Impact Doors”, sheets 1
through 12 of 12, dated 5/13/03 and last revised on FEB 25, 2209, prepared by W.W. Schaefer Engineering &
Consulting, P.A., signed and sealed by Warren Schaefer, P.E., bearing the Miami-Dade County Product Control
Renewal stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County Product
Control Division.
MISSILE IMPACT RATING: Large Missile Impact Resistant
Limitation:
1. CMU installation is not applicable to Head or Sill.
2. Two (2) #8 screws into clip installation must have min penetration of 1-1/4” into wood.
LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved”, unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.
INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its dlstrlbutors
and shall be available for inspection at the job site at the request of the Building Official.
This NOA revises & renews NOA # 04-0211.07 and consists of this page 1 and evidence page, as well as
approval document mentioned above.
The submitted documentation was reviewed by Ishaq I. Chanda, P.E.
NOA No 09-0305.02
w Expiration Date: April 26,2014
Approval Date April 22,2009

‘\0\ Page 1



KMIL Windows, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A.  DRAWINGS (transferred from file # 04-0211.07)

1. Manufacturer's parts and sections drawings.
2. Drawing No.1228A, titled “Aluminum Clad Wood French Impact Doors”, sheets 1 through
12 of 12, dated 5/13/03 and last revised on FEB 25, 2209, prepared by W.W. Schaefer

Engineering & Consulting, P.A., signed and sealed by Warren Schaefer, P.E.

B.  TESTS (transferred from file # 04-0211.07)
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with installation diagram of outswing clad wood French doors, prepared by
Architectural Testing, Inc., Test Report No. ATI 02-35026.01, dated 2/19/03,
signed & sealed by Steven Urich, P.E
2. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with installation diagram of outswing wood French doors with different shape
top, with & without sidelites, prepared by Intertek Testing Services NA Inc., Test
Report(s) No. J99022770-231-07 and J99022770-231-08, dated 10/11/00, both
signed and sealed by Douglas Keith Tucker, P.E

C. CALCULATIONS:
1. Anchor Calculations and structural analysis, dated 02/24/09, prepared by W.W.
Schaefer Engineering & Consulting, P.A., signed & sealed by Warren Schaefer, P.E.
2. Glazing complies w/ ASTME-1300-02 & -04

D. QUALITY ASSURANCE BY;
1. Miami-Dade County Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 06-0216.06 issued to Solutia, for “Saflex ITIIG clear & color
interlayer”, expiring on 05/21/2011.

F. STATEMENTS

1. Letter of conformance to FBC 2007 & “No financial interest” dated February 24, 2009,
signed and sealed by Warren Schaefer, P.E.
2. Laboratory Statement of compliance, part of the test reports.
F. OTHER

1. This NOA revises & renews NOA # 04-0211.07, expiring April 26, 2009.
2. Test proposal # 02-0776 dated Dec 02, 2002, approved by BCCO.

\Ska.o, \ . L\/\nv\én—
“Ishaq I Chanda, P.E.
Product Control Examiner
NOA No 09-0305.02
Expiration Date: April 26, 2014
Approval Date: April 22, 2009




-

DISTANCE REQUIREMENTS SEE SHEET 3

GEN

NOTES:

SINGLE RECTANGULAR FRENCH DOOQOR

SCALE: 3/4"=1-0"

NO. 10 SMS WITHIN 4" OF
CORNERS & MAX. 12" 0.C.
WHEN INTO WOOD FRAMING

1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED FOR DESIGN PRESSURES NQOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN PRESSURE TABLE(S).
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE.
3. AL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS.
BEYOND WALL FINISH OR STUCCO.
4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & PROPOSED FOR WATER, AR, IMPACT, CYCLIC & UNIFORM STATIC AIR PRESSURE TESTING IN CONFORMANCE WITH THE FLORIDA
BUILDING CODE PROTOCALS TAS—201, 202 & 203 FOR LARGE MISSILE IMPACT DOORS. .

5. THESE DOOR SYSTEMS HAVE BEEN DESIGNED (N ACCORDANCE WITH AND MEET THE REQUIREMENTS OF THE FLORIDA BUILDING CODE (FBC) INCLUDING HIGH VELOCITY HURRICANE ZONES (HVHZ).
6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE DOORS.
7. ALL ANCHORS SECURING DOOR FRAME TO PRESSURE TREATED BUCKS OR WOOD FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN THE WOOD.
8. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCITY.
ACCORDANCE WITH THE FLORIDA BUILDING CODE, A DIRECTIONALITY FACTOR OF Kd = 0.85 MAY BE APPLIED WHEN USED IN CONJUNCTION WITH LOAD COMBINATIONS SPECIFIED IN SECTION 2.0 OF THE ASCE 7 STANDARD.
9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS PRODUCT.
10. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS OF FLORIDA BUILDING CODE CHAPTER 20.

11. All WOOD MEMBERS OF DOORS THAT MAY POSSIELY COME INTO CONTACT WITH MASONRY OR CONCRETE SUBSTRATES, ARE SUBJECT TO MOISTURE &/OR ARE SUBJECT TO THE OUTSIDE ENVIRONMENT SHALL BE OF AN
APPROVED DURABLE SPECIES OR BE TREATED IN AN APPROVED METHOD WITH AN APPROVED PRESERVATIVE PER FBC SECTION 2326.

DOUBLE RECTANGULAR FRENCH DOOR

SCALE: 3/4"=1"-0"

SPECIFIED ANCHOR EMBED TO BASE MATERIAL SHALL BE

FOR WIND LOAD CALCULATIONS IN

WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED FOR WOOD SCREW ANALYSIS ONLY.

1/4" TAPCONS WHEN INTO
CONCRETE SILL (2 PER

STRIKE PLATE)

PHODUCTmEm
5 complying with
complyingwich the Perida

Aceveptance Ng &G ~4305 02,
Expiration Date

1y

" — . 74 3/16" MAX. OSM DRAN BY: |CHeckeD Br
W > 37 5/8" MAX. OSM 1/4” TAPCONS WHEN INTO I L
CONCRETE HEAD (2 PER STRKE PLATE)
XJ N N 51A518 NO. 10 SMS(WHEN INTO ' ) 27 w| &
: VINYL NAIL FIN WOOD HEAD (2 PER STRIKE PLATE 1 N
« (OPTIONAL WITH CAYER (B1\¢B2) (49) vNYL AL v LS
RECTANCUMRSEGE‘)EETA ALFE);?TGUND TRAPEZOID TRI%ELE SHEAR SCREW @ N ) v w (OPTIONAL WITH |f . z
il INSTALLATION) & \&/ p \(“*‘ SE‘ES:E()SNER DETALLS —~ &%ﬁﬁﬁﬁgﬁ‘;’
i e R =} LA it —— - 8
Z z E ’@B 1 n if i EF: - %
{ | N A 1| N in
EXT. REV. DOUBLE DOUBLE EXT. i /// I A8A i % @ / gl
SEGMENTAL ~ RECTANGULAR  PARTIAL SEGMENTAL. 48A—" 1 1l \ﬂw i M / I \ - 15
NO. 12 SMS |° SHEAR SCREW i NO. 12 SMS |e SHEAR SCREW min ¢ : 2]z
INTO BUCK INSTALLATION J e o INSTALLATION ullu
(2 PER TOP SEE OTHER ELEVATION iy +<4|NGE) SEE OTHER ELEVATION @
HINGE) Rl FOR CLIP INSTALLATION [_: G 2 FOR CLIP INSTALLATION | \ 15 e
I N
RN o o ) / AR IS . |7 | 7 N sk
D 3 ki ACTIVE I’ © . 1] /24 7/8" | . z 5«
Q . " - <<
S HNGE |t (32 IL_ o= HNe Tl VA 2. II N T 2 z A
2 : : n 8 % : INACTIVE = ACTIVE 2 8 zz0!
= @ | T = ' : B ow 8253
| P s ~ voos gl
) i) amml MAX. D.L.O. . . \ : - o
DOUBLE DOUBLE EXT. REV. - " { : W @ STA & 32 N : 3 o g g 2 % =
TRAPEZOID PARTIAL SEGMENTAL = ml S1A & 32 \t-_ 't @ ‘T \\J\ﬂ T 51 ¥2.7
SHAPES CONSIDERED AS N R L \,j N¢ Ao TIeCE / { sl 8
PART OF THIS APPROVAL 8035 sue\ | || \ ol |tjy / = § 35
wimHn 4" oF W // I M i Q J/F@ M Y, 1S § ‘%‘ -
NOTE: FOR COMBINATION OF || [ioero & . @”\n: N | O r(lr/ N 2 F -
UNITS. SEE MULLION AN Hitt— ¢ « NO. 10 SMS : HH— g 4 / e .3
DRAWING NO. 1003E I O N I I K I BTN 1 AV 7 O i 8| & i
& 1003F UNDER 1 ol 2 1 J MAX. 12 0C. || el I 1L = | 237
SEPARATE APPROVAL gl - i X o T R il E T 2 2575
T G ) R = S| 5
ALLOWABLE DESIGN LOADS o Ntic T T - T = > | sz 88
. . . * - . i Len ] i i - z | €252
- | 43 1, 58 8%
+65 PSF/-70 PSF ! | " N 4 - Iﬁ NO. 10 SMS WHEN INTO  [E2 28" Z 5
éé;NETé\SPCENaAy ITI1-|I2" gCOF WOOD SILL (2 PER STRIKE Jlo << |5 =% 827
FOR JAMB FASTENER EMBED & EDGE EXTERIOR ELEVATION WHEN INTO' CONCRETE EXTERIOR ELEVATION PLATE) : B ¢

CERTIFICATION

kY
5

N

SCHAEFER, P.E.

W.
P.E. NO. 44135

REN

V4

DRAWING NO. | REV.
1228A | A
SHEET NO.

1 of 12




—

74 3/16" MAX. OSM

FIN SCREWS
NO. 8 X 1 1/4" SNS
OR 1 5/8" DRYWALL
SCREWS WITHIN 4"
OF CORNERS & MAX.
10 1/2” 0.C.

18

1/4” TAPCONS WHEN INTO

i

SEE "CORNER DETAILS”

ON SHEET 8 ﬂ

NO. 12 SMS
INTO BUCK

(2 PER TOP
HINGE)

76 1/4” MAX. D.LO.

NO. 10 SMS
WITHIN 4" oF |°
CORNERS &
MAX. 12" O.C.

S

HINGE

CONCRETE HEAD (2 PER STRIKE PIA
\& NO. 10 SMS WHEN INTO '
WOOD HEAD (2 PER STRIKE PLATE) N
‘m@ - (OPTIONAL WITH
\ 6/ SHEAR SCREW
\ \ 8 / INSTALLATION)
f‘!!.si§
© \
~
L NO. 10 SMS
/ \| @ WITHIN 4" OF
CORNERS &
34 ) \ X' | Max. 12" oc.
/ \ €
SHEAR SCREW .
INSTALLATION N
SEE OTHER ELEVATION @ // \\
FOR CLIP INSTALLATION 31/2
\ 0
/ N
v INACTIVE T ACTIVE i il
. M L
24 7/8" " A\ 8
MAX. D.L.0. g
<C
=
E__ o 0
= o
/ Q
N j y . é
x| 2
f H / <
N7 g
>
<+
N

1 1/2

1/4” TAPCONS WITHIN 4” OF
CORNERS & MAX. 12" 0.C.
WHEN INTO CONCRETE

NO. 10 SMS WITHIN 4" oF
CORNERS & MAX. 12" 0.C.
WHEN INTO WOOD FRAMING

EXTERIOR ELEVATION

DOUBLE EXTENDED QUARTER ROUND

NO. 10 SMS WHEN INTO
038 WOOD SILL (2 PER STRIKE

SCALE: 3/4"=1"_0"

NOTE: FOR COMBINATION OF
UNITS. SEE MULLION
DRAWING NO. 1003E
& 1003F UNDER
SEPARATE APPROVAL

PLATE)

53A 1/4” TAPCONS WHEN INTO

CONCRETE SILL (2 PER
STRIKE PLATE)

| ALLOWABLE DESIGN LOADS

|

L +65 PSF/-70 PSF

]

SEE "CORNER DETAILS”
ON SHEET 8

@\

48A

NO. 12 SMS
INTO BUCK

(2 PER TOP
HINGE)

M-_
° [l [ = TFI-Y

|

A

)

\ 4

NO. 8 X 1 1/4" SMS
OR 1 5/8" DRYWALL
SCREWS WITHIN 4"
OF CORNERS & MAX.
10 1/2" 0.C.

I

T‘\U 1/2" MAX. D.L.O.

FIN SCREWS Tl f

74 3/16" MAX. OSM

1/4” TAPCONS WITHIN 4" OF
CORNERS & MAX. 12" 0.C.
WHEN INTO CONCRETE

NO. 10 SMS WITHIN 4" oF
CORNERS & MAX. 12" 0.C.
WHEN INTO WOOD FRAMING

64
645

1/4” TAPCONS WHEN INTO
CONCRETE HEAD (2 PER' STRIKE PLATE)
NO. 10 SMS WHEN INTO
B2 wooo HEAD (2 PER STRIKE PLATE) VINYL NAIL FIN
5 (OPTIONAL WITH
35 C SHEAR SCREW
8 INSTALLATION)
B1 34 ; = T
0 ZiN N |
i © ; ”
SIRA = 12
/ il \| 2 ile
/ i
L I [ . o T
INSTALLATION j .
SEE OTHER hY \
ELEVATIONS FOR \ P |
SHEAR SCREW | L_@ \ -
INSTALLATION / | // \
Y 7/8" l \\ |
MAX. D.L.0. [ H E:}
INACTIVE I | 5 acTivE |1 ] |
l | ‘ § 8
318G1A & 321 |i / -
\\J ] 8 =
\ \Lm / e
\¢ ltjy-- T ) E
YRl
31A1318 r_(::) /
\\ HANDLE i :4 4 ¥
) %
H1N all > INSTALLATION
=, D¢ < CLIP 4" FROM
SN ! " t 3 // I°| CORNERS & MAX,
. \ l[f l[f / ¥ 12" 0.C.
] L} \ (T ﬁ
o TNy ° y
|G S| =: N
‘ N[ = = _
; = 'Il Lﬂ -
|

S

EXTERIOR ELEVATION

DOUBLE TRAPEZOID FRENCH DOOR

FOR JAMB FASTENER EMBED & EDGE
DISTANCE REQUIREMENTS SEE SHEET

3

SCALE: 3/4'=7-0"

655

I'
NO. 10 SMS WHEN INTO

WOOD SILL (2 PER STRIKE

PLATE)

CONCRETE SILL (2 PER
STRIKE PLATE)

1/4” TAPCONS WHEN INTO

REVISION DESCRIPTION

DRAWN BY:

CHECKED BY:

K.P3s. WW.S,

DATE:
05/13/03

NO.

ITLE

ALUMINUM CLAD WOOD FRENCH IMPACT DOORS

DRAWIN

23 BUCHANAN COURT
CANADA N5Z4Pg

KML WINDOWS, INC.
LONDON, ONTARIQ,

R ———m———

MANUFACTURER

(519) 681-7012

L; SUITE c-204
S, FL 33410

~4902 FAX: 561-775-4903

561~775

& CONSULTING, P.A.
8895 N. MILITARY TRAI
PALM BEACH GARDEN

W. W. SCHAEFER ENGINEERING

CONSULTANTS

PHONE:

CERTIFICATION

FEB 25

AEFER, P.E.
. 44135

W. SCH
E. NO

Ky

& L

e

s

BDRAWING NO. TRl

1228A

>3 WARRE]

SHEET NO.

2 o 12




TIoRAWN BY:  [CHECKED BY:
e 37 5/8" MAX. OSM 27 37 5/8" MAX. OSM PLO:.P.S. DAT%.w.j.
1=16 05/13/03
19" 47 vax,/ (OpTionaL Wi SEE "CORNER DETALS" .
‘ MAX. ON SHEET. 8 3
SHEAR SCREW L
! INSTALLATION) TN .
I - 't : I'F <1 - g : = &
A I 1 AY i { T
™ 1 2 \ H
. : \ ,,
/ 3
: \: z WU // : 2
] / = —~/ e é
N / CLIP P 1 FRom ) SHEAR SCREW ,
INSTALLATION CORNERS & MAX. INSTALLATION ‘
SEE OTHER 12" 0.C. SEE OTHER S
R ELEVATION FOR a NO. 10 SMs \ [2U] ELEVATION FOR S
- SHEAR SCREW < WITHIN 4" OF CLIP INSTALLATION
A . . : MAX. 12" 0.C. s ‘ NI
5 FIXED 5 FIXED 9
ALLOWABLE DESIGN LOADS o a3 E o - ‘ H- G Eg
% . % 0 . z o0&
2 4 \ . © 4 \ | 5590
~ 0 [} <§t M~ a 0 0 0 Ed%
NOTE FOR COMBINAT’ON OF ﬁ 3 . E . ﬁ 1 24 7/8" PR % § 5%/\
UNITS. SEE MULLION e 8 MAX. D.LO. =3 I
DRAWING NO. 1003E : B T e SCREWS/ : ° o] 2502
NO. 8 X 1 1/4" SNS Q -
& 1003F UNDER i | OR 1 5/8” ORYWALL ] I il 3
SEPARATE APPROVAL & = SCREWS WITHIN 4" s ° = .g =
OF CORNERS & MAX. |2 o
/ 10 1/2" 0C. / L% :
N 72 i ' /4 & -
2 5T T o S
ol 2 3z 7
RV . YRR : S| & a2
12" MAX. 12" MAX. 12" MAX. Q| g o8t
i i ol 8% 5:%
2 G — I g g Eg EPE:
¥ ¥ T T ¥ = fE'&,"N
’ I | = W Zo
i, I‘ | & ux & xS P > | b3 5%
1/4" TAPCONS WITHIN 4" OF HZ |58 28T
EXTERIOR ELEVATION CORNERS & MAX. 12" O.C. 4 TCONS TITAN € 0F N0, 10755 WITHI 4° OF P22 5 535
. Z > D0y
FIXED PANEL DO,,OR, S,'.DELITE WHEN INTO CONCRETE CORNERS & MAX. 12" 0.C. CORNERS & MAX. 12" O.C. 'g g; ® 5
SCALE: 3/4"=1-0 NO. 10 SNS WITHIN 4" OF WHEN INTO CONCRETE WHEN INTO WOOD FRAMING fa] o= x
FRAME ANCHOR REQUIREMENTS TABLE CORNERS & MAX. 12" O.C. A
WHEN INTO WOOD FRAMING EXTERIOR ELEVATION o
FRAME SHEAR SCREWS FIXED_PANEL DOOR/SIDELITE z 29
OPENING TYPE SCALE: 3/4"=1"-0" = by
(S%BSTRATE) FRAME TO OPENING FASTENER Type MMM MEMOM / 35 £
: : PRODUCT RENEWED z 2
MIN. 2X4 WOOD FRAME OR BUCK . . ascomplying with the Florida SN :
(MIN. GR. 3 & G=0.55) NO. 10 SMS OR WOOD SCREW 1 1/4 3/4 Rutiing Code 4 o
S - Aceeptance No92-0 2050 2- e N
(1) c-90 CMU (2 1/4" CONCRETE SCREW 1 1/4" 2" Expinetion Date oIy E:
2500 PS| CONCRETE (2) 1/4" CONCRETE SCREW 11/2" ] 2.1/2" By \Cleox Lhaud- I
! DRA . L
(1) CMU IS NOT APPLICABLE AT HEAD & SILL D ?‘” sduct Contro 12984 | A
(2) CONCRETE SCREWS SHALL BE ELCO ULTRACONS, ITW RAMSET/RED HEAD TAPCONS, SHEET NO.
HILTI KWIK—CON 1l OR POWERS RAWL TAPPER (HARDENED STEEL OR S.S.). 3 or 12

L




—

——!

1/4" MAX.

FRAME MAX. OSM

1/4" MAX.

SHIM (TYP.) |

MIN. 2X4 PT
WOOD BUCK

KEEPER PLATE HELD TO ASTRAGAL
WITH 2 NO. 8 X 1 3/4" SMS

T SHIM (TYP.)

MIN. 2X4 PT
WOOD BUCK
BY OTHERS

‘|CHECKED BY:
K.P.S. W.W.S.

PLOT: DATE:

1=2 05/13/03

BY OTHERS 7%

AN

INSIDE

REVISION DESCRIPTION

NO.

s i ﬁ @\f N S%\}
wlLLL L=y =y

OUTSIDE

OUTSIDE SILICONE sg@r 68 33
& SCREEN SPLINE

@ 5o

SECTION /2

SCALE: HALF FuLL siZE \ 4/

SEE "OPTIONAL JAMB DETAIL” ON SHEET 9
FOR DIRECT MOUNT TO BLOCK OR CONCRETE

& BACKERM
BY OTHERS

[ CLIP INSTALLATION |

16A1168 SEE "GLASS DETAIL”

ON SHEET 9

OPTIONAL

KML WINDOWS, INC.
23 BUCHANAN COURT

LONDON, ONTARIO, CANADA N5Z4P9
(519) 681-7012

ISHEAR SCREW INSTALLATION]

1/4" MAX.

@ "~ SHIM (TYP.)
1
@ MIN. 2X4 PT
WOOD BUCK
M

BY OTHERS

wams——

MANUFACTURER

1/4" MAX.
SHIM (TYP.)

— : FRAME O.S.M.

INSIDE

ALUMINUM CLAD WOOD FRENCH IMPACT DOORS

& CONSULTING, P.A.

8885 N. MILITARY TRAIL; SUITE C-204

N / z
) QIR RALR

a
a -
4| E

ALY
)
v

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561~775~4903

DRAWING TITLE
CONSULTANTS

TR
N L e
-

PRODUCT RENEWED

36 _ am'é;&ew“h the Florida
d NO G .
16A)168 Etpiraion Daie AP 55550 2

OUTSIDE 27 By
SECTION /B2
SCALE: HALF FULL SIZE\U

| CLIP INSTALLATION |

. SCHAEFER, P.E.
.E. NO. 44135

st X 5% Esiucone seaant ON SHEET 9
38 & SCREEN SPLINE

OPTIONAL
SECTION  /EN

SCALE: HALF FULL SIZE\ 4 /

|SHEAR SCREW INSTALLATION]

CERTIFICATION

FEB 95 2009

DRAWING NO. [REV.

1228A | A

SHEET NO.

4 oF 12




—~

{[orAWN ™ &Y; CHECKED BY:
P MIN. 2X4 P.T. WOOD N MIN. 2X4 P.T. WOOD Tt
g BUCK BY OTHERS (TYP.) @—A 43 BUCK BY OTHERS (TYP.) ST
EO—p e .
O+ @ o= :
OPTIONAL |- 2 1/4” MAX. @- ~ O 1/4" MAX. °
2 {7 SHIM (TYP.) e / / 38 [7SHIM (TYP.) .
SEALANT z SEALANT — 5
& BACKER ROD T & BACKER ROD g
BY OTHERS 2 "‘ BY OTHERS P " 2
\ i % @ 28 P / @ :
16A)1 68 MN\‘@ V /I /] : :
/\ ) : = /\ IV |
69 65
R e D :
&— = &— = :
Z
S Ba
! B O\ — 323
OUTSIDE (w7 DY INSIDE OUTSIDE A2i 57 INSIDE 2 <z(5 |
2 - M ) e ..‘——
Wi e o| £ 528
> > o 9=
© i S| 2250
— —_— > — —_ > ¥ ™
( \ : ] - : 1
(48] L [id
TR 2 R 2 ol -
o= e ) = = A o sl -
SEE "GLASS DETAIL"—] \\ N (14 SEE "GLASS DETAIL"— 3\ L —(9 g E
ON SHEET 9 \ ] ON SHEET 9 \ | e | %
Yo 6 T 5|85
T/\\\;\ Y Y/\\\;L 4 = Z;(_' wie
4 o A,
26— 69 T /[ ‘ 69 2| 857
) ) o ~z3z
2| Wa T
yac { @ 3| g2
4E |50 28N
& @ X & 3 R 2
X o< |5 .8 93°
h. .———ﬁ 2 *. N FERE L
J \/‘@ 1/4” MAX. g" \f@ 1/4" MAX. .
o ~ | SHIM (TYP.) a ~ [ SHIM (TYP.) o
] =z 5:91
A g o éi
& ' cELVE SF | pevameme J3e\\
s a & JUERY ILY: SEE Buiding Code - ,%_ o =
) as : e B Avceptance No 0 Z-0 30\ D2 &l m ui
' ' 3 Expiration Date 1y &l W
| : A% %
SECTION /37y SECTION /3y plstcsg . Lol :
SCALE: HALF FULL SIZE  \ 5/ SEC "OPTIONAL JAMB DETAIL" ON SCALE: HALF FULL SZE \ 5/ Division R B
SHEET 9 FOR DIRECT MOUNT TO 12284 | A
BLOCK OR CONCRETE. | CLP INSTALLATION | SHeeT O

[SHEAR SCREW INSTALLATION]




—

|[orawN BY:  {cHECKED BY:

MIN. 2X4 P.T. WOGD K.PS. WW.S.

PLOT: DATE:

BUCK BY OTHERS (TYP) 1=2 05/13/03

MIN. 2X4 P.T. WOOD
BUCK BY OTHERS (TYP.)

OPTIONAL -

1/4" MAX.
| SHiM (TYP.)

1 /4” MAX.
| SHIM (TYP.)

SEALANT SEALANT

& BACKER ROD 2 & BACKER ROD

BY OTHERS ﬂ[] ZEA = BY OTHERS ﬂg
— ==

e @~

49

ILARERN AN

I
®

REVISION DESCRIPTION

NO.

\

Rl
LT
@;

|

INSIDE

QUTSIDE - INSIDE QUTSIDE

KML WINDOWS, INC.
23 BUCHANAN COURT
LONDON, ONTARIO, CANADA N5Z4P9
(519) 681-7012

MANUFACTURER

FRAME MAX. OSM
FRAME MAX. OSM

)
fulliR ;
| \hi\ (S)EIES’;%Q%SSQ DETAIL” — \5\\ \
i /4

—— —_——

SEE "GLASS DETAIL"—

N
ON SHEET 9 k/T/ﬂ\(

:_
S
¢
®

2

ALUMINUM CLAD WOOD FRENCH IMPACT DOORS

& CONSULTING, P.A.

8895 N. MILITARY TRAIL; SUITE C—204

Tj@T
Ly

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 581-775-4903

DRAWING TITLE

CONSULTANTS

"
V

1/4”" MAX.
| SHIM (TYP.)

f

—

A
\/@ 1/4" MAX.
™~ [ SHIM (TYP.)

PRODUCT RENEWED

as complying with the Fiorida
Buiding Code R
Ateeptanee Nod §-0305-0 1~
Esplration Date_4/0 24,201y

SCHAEFER, P.E.
NO. 44135

39

IN
TR R IR |

CERTIFICATION
W.
E.

4., .
Y
BN Lo
> -

s 4 S

e - A
T,

Ol =
'S

[
a . n .
©a

N IUN

W -

o A

Lo e

&, N

o~
o)
o
o
L

F

SECTION D1 SECTION /D2

. SEE "OPTIONAL JAMB DETAIL” ON

SCALE: HALF FULL SIZE 6 SHEET 9 FOR DIRECT MOUNT TO SCALE: HALF FULL SIZE \Sj 1298A
BLOCK OR CONCRETE. SHEET NO.

[SHEAR SCREW INSTALLATION| | CLIP INSTALLATION | 6 or 12

<
£
" DRAWING NO. JREV.

_



\

J[DRAWN BY:  [CHECKED 8Y: ]

a Z10/—1R9 mm rmv £08Y~SLL—195 XV4 206vy—5LL-19G ‘INOH g m_mumax.o ..m_.ﬁ_uum%; > <
gl 2 Bd¥ZSN YAYNYO ‘OIMYINO ‘NOANOT Y025 TUNE SR VAT N See % 2
= ..M.W ._.KDOQ. Z(Z(IODm M.N .<.n_ .OZ_._.JDWZOO um ) WA W‘”
ONI "SMOGQNIM A ONIY3IINIONT ¥343IVHOS "M "M | e .
. NINNLOVINNYN SINVLIINSNOD 02 ¢ ¢ 933 ESE -
21 5 s < ~— 5
e 0G0 LOVdWNI HON3M4 QOOM avi1d WNANINNTY — S
2 V0 | A8 | NOILJINOS3Q NOISIA3S  [ON 4004 d T ONIMYNQ NOLLYOI3LLY3D
m. -
~
=3 . ¢
s 54
8k .
SE s
53]
Nm - m
S H
L
a mm,m e
0 [
g ,
282 %M
xa
g xa =E
g& 3t ¥z
gL ¥ = =5
o > Ly e
= n
o o Lmy :
< > NSO XYW JAVYA
V2A m
x — @
=z Q Lt
= PIP® @ Lo
. W (o]
P @ AW
5 4
9@ S DN XS
@ @nﬁ;ﬁﬁﬁi M~
P ‘p
i =]
~ Q 1S
—_———— e ] = =
/ “ TS 513
P~ AU B3
a‘&\ \ %E _ 7T h\.M oo ”—uL ,\/ .”__ m
3 /\ it
w\ \_PJ “Kﬂﬁvw/\ m Z
L | ~Exxx \\\ H 3 L
\ \X e _ N /\ \/xVA =
P 0 | :|E
] &
N o —— —— — A'n_ [Vp)
| 1F
= |
9 A e
M @ nA/__r i @ @ N =
o =
w — Ll Lt == Mn_
o~ m z5 =2 n P 3
x&(© 25 2 2o 3.
= T ~ ﬁr,\.w oD M (Y] -—=
ZQE 2UE @) O S
SZ 0 (< SR = L =0
o @ -\ 2 TZx n o
NG o T = m S r& - =t
R no
— . <
a Xq =z e
% m/n\ = /W\ <~ = e
z ~ = =
g8 N ~ & £3
Lo T Ly o=
Qo L 05
N NSO "XVA 3WvY iy
S _°z2
z8 @ _ Lt @ Z%0
=m o @ Qg
7e) w0 a o
. =z ol /7 P
= bl O
.
I~ Tp) n
(0)) —
SATTTRAVIRL NI L
N \ 1 [Z]
. — — = A | . Q
: . ﬂ \ = N L W
/ N Q\ = kﬁ — T~ \//\ 7\ LTI RIT TR 117 T2l
.. L1 ETTRCRETRTY _ Y I ZTA X FIT B Mr\ AN\ RS v _ m
o ALLVZORLE L SO W A ~ /_.VMM 7 ool Z1 32,
_— g NES // X L ux/_, \l ASLLEROAANLY | L d ol2 |2
T et _— b T~y ] = =
.vq o / 07 .\ . b A U ' \/\ \/X’u \\ %’A 4,,.. 1 _.m M m
= U r \ 7/ v .A . E T m
b e ﬂ , (lll_ll\ N iu e
| . : 3 lx
: S R aN =z z
Lo D19 @ S o oL ke &
O 2 = &z M)\
™ = 8 =z = = =2 2
S 2 o Ja 2 7 i
g S) BT 2 sk 3"
N oV = - L =l
zZSE o, W IS Ox —Z
355 (3 =zH L =3
0> \— 13 2 Lud @ g
» ¥ D 3 = O®
am B n o




TORAWN BY:  JCHECKED BY:

NOTE: THESE SCREWS MAY BE REPLACED 3/8x1/2" WOOD e T
WITH 1/4" TAPCONS WHEN FRAME IS DIRECT TENON MORTISED 1=2__| 05/13/03
MOUNTED TO BLOCK OR CONCRETE OPENING INTO STILE & RAIL
. (SEE "OPTIONAL JAMB DETAL" ON SHEET 9) & GLUED WITH PVA =
— WOOD GLUE \ S
) — (FULL DEPTH OF RAIL) . 2 7/8'%
N N WOOD GLUE %
! e g JAMB TO JAMB
8 RAIL - :
2 | | );’— %
s o - , ; / / %/ /%/ ;
i ,/\/\ _1/\} <P %
;'E’/J CaP COUNTER SINK P 9‘?/ RABBET JAMB 0 2
ﬂD 0 %E/E AG BOLT 2" ) JAMB CORNERS .
rr\" T & CAP WITH g \ 1/4" DEEP e
7{ 4 1” DIA. WOOD
5 NO. 8 X 3" SMS— 3 \\ \@ DOWEL & PVA @ i = ~A
SCREWS PER PANEL [N\ GLUE M 2 g
KEEPER BAR (2 INTO IS 49 4 STILE @@ JAMB TO JAMB DETAIL CLAD TO CLAD DETAIL <
STILE & 3 INTO RAL) ||~ _IR SCALE NTS SCALE: N.T.S. b
. N.T.S. 2
63— )\ 3 34 528 | S B<
3 ~ JAMB_CORNER DETAILS £ 350
5 NO. 8 X 3 SMS o PANEL KEEPER BAR. STILE TO TOP RAIL CORNER DETAIL g =87
IN0.B X PANEL—\ (SEE DETAIL THIS SHEET) SCALE: N.T.S. U/YJAMB & CLAD s
KEEPER BAR (2 INTO \_- v n] 8 <co
STILE & 3 INTO RAL) T R Ao 7 @ 14) ﬂ < Ny | £5%~
\2 r " O \ Ql 2 3z
2 A2 1/8% S 8] 2 @z
, - 71 17]) o| 2220
g // < NZ
9 [2.44
{ / 4 1/2'% A% el 5
= 12 z
;E\ STILE 2 /K P - - g 9
] ‘ L L RAIL //2 1/4":|: % 2
N o =
L] /// B
= & "
0 COUNTER SINK o 3
;_ | 2 LAG BOLTS 2" /// A S| 2 2.l
i & CAP WITH 4 A S| e ot
_ 1" DIA. WOOD vl } z3u";
N DOWEL & PVA S 3/8"x1/2” WOOD 3 N al| &% 3=
N GLUE A 2 TENON MORTISED 3 4~ THRESHOLD & BUMPER <| 2s oz
K 45 N o Z 35
3) INTO STILE & BOTTOM U T N xE 5,
Ve RAIL & GLUED WITH = = 259
A - PVA WOOD GLUE h z| 2534
2 = |, 55 48
SECTION @ STRIKE PLATES /N H S RO L 3 NO. 8 X 2" SMS SCREWS THROUGH th %:: ggf
SASH STILE TO RAIL CORNER DETAIL CLADDING & INTO JAMB JAMB & INTO THRESHOLD s |2 &%
SCALE: HALF FULL SIZE W SCALE: N.T.S. CLAD SCREW BOSS (EXTEND JAMB TO THRESHOLD BASE) = |s= £
0" THRESHOLD TO JAMB CORNER_ DETAIL g
3.25" 425" 2.25 _ 5
2.00" 0.218” DIA. HOLES 2.50" 0.312" |— ~—0.312" PROBUCT RENEWED 98 b3
0.75"~ - (7/18 C-SINK)—\ ] -—0.75" r0.562” t = 0.078" | ! T omplying with the Flacida e WEE
» gt L =z
l . 0.687 " @ Acceptance NoJ 02 £l ee &
L—@— - - @ ® @® — T74& Expiration Date /Yy Wl a
| |
] L
T " " : eliband il ‘
. ] 0.625" DIA. HOLE FOR FLUSH BOLT STRIKE ] 16" h— 0812 b 0945 Miami : N
0.50 0.313 HOLES " DRAWING NO. REV.
~ PANEL _KEEPER BAR DETAIL STRIKE PLATE DETAIL 12284 | A
1/4" X 1" A36 STEEL NICKEL PLATED OR PAINTED BAR NICKEL PLATED STEEL =S
SCALE: HALF FULL SIZE SCALE: HALF FULL SIZE 8 of 12




1/4" MAX. I DRARN EY: [CHECKED 5Y:
‘_SHIM (TYP) . — -— SEE GLASS OPTIONS BELOW PLOT: DATE:
. » 2 " 1=2 05/13/03
, 1" a2 1/18" =] - 15/16
~ &9 o
T - ;
. @ 67 I J 5
. é% —_— 5
TR &
» 1/2” MIN.— N I HOLES FOR NO. g
o \ 8 SCREWS o &
o 1 ROW OF 6
— LMY coae R ;
YOI ,:).{ 725 .- x \: l %} ©
i IR N LY | | :
ey “ \
& 7 PTI—MIN. 2X4 P.T. \ 2"
0 |- | BUCK BY OTHERS CONTINUQUS WOOD ?
F 1 v e FILLER (SAME WOOD b <
S S]] AS STILES) ? AR\ D
T y &
— TYPICAL GLASS & GLAZING DETAIL 2 859
. SCALE: 3/4 FULL SIZE - 2" 12 i OZR
SECTION m GLASS OPTION 1: 9/16” THICK LAMINATED GLASS WITH SAFLEX | = z0!
_ G PVB (1/4” AN/0.09" PVB/1/4" AN) a Z5%
SCALE: HALF FULL siZE  \ 9 / ' @ - —— — el z £8°
SIMILAR FOR CLIP MOUNT GLASS OPTION 2: 3/8" THICK LAMINATED GLASS WITH SAFLEX | (e} = 8;1(8
G PVB (5/32” AN/0.08” PVB/5/32" AN) Q1 uaz
» I | » E O\Lr_)/
2" MIN.——— 1/8" THICK 2 1
S E — 1/4" TAPCONS 4” FROM CORNERS ol [ S
& MAX. 12" 0.C. (SEE SHEET 3 =k 2
FOR EMBEDMENT REQUIREMENTS) ! - B 9
TO REPLACE ALL NO. 10 & 12 _HOLES FOR NO Sl E
. : 2
JAMB & STRIKE SCREWS 6 SCREWS (6 X g E
TOTAL AS SHOWN) | 2 i =
CONT. P.T. SPACER | 2 3
/_""AS REQ'D 8 E (o?gu’\g
(MIN 3 1/2” WIDE) ? S Q tg oB)
1" al a% §d$
7 E 7] ! 3| Lg
e Ed g
s | B3 Es
(39 SIRIKE_PLATE_DETAIL 3| 53 8%
NICKEL PLATED OR PAINTED A446 GRADE A STEEL (W5 |58 3a%
e@ SCALE: HALF FULL SIZE ES |2 0C =25
|<:>< 5. 83°
I FE L
2 5;‘ g
a) Q o
a
PRODUCT RENEWED z| i
as complying with the Flarida 2 2 ]
Buiding Code 5 < I
Ao 2902802 12 s\
Expiration Date E o3 :
lbheﬁ l. éér,u.\;— S m
MMM“CQ)MM E_\_J o 3
Division =
OPTIONAL JAMB DETAIL FOR DIRECT - —
RAWING . R
MOUNT TO CONCRETE OR BLOCK D?228A A
(TYP. ALL UNITS) SHEET NO.

SCALE: 1/2 FULL SIZE , 9 or {2 __J



—

4.562

T VENERR

K

4.562

7T

0.645

| @ LINEAL

LPONDEROSA PINE LAMINATED IN

WOOD FRAME

5 BLOCKS
JAMB

(PONDEROSA PINE)

4.250

i

EXTENDER
(PONDEROSA PINE)

0.963
WQOD SUBSILL
(PONDEROSA PINE)
[~ 1.750 2.468
0.937
J N ] 1808
WOOD DOOR

@ DOOR THRESHOLD

CAP_BUMPER
(PONDEROSA PINE)

2.000

| —0.250
b

U

\\\\Lf

ASTRAGAL CAP
(

PONDEROSA PINE)

] \
0.703 ' i
IA 0.703 3
0.625 0703 ) _1 L x
|
i 0.500 L
. | | 0.500 j
@ LINFAL WOOD @ RADIAL _WOOD 2
@ RADIAL WOOD FRAME JAMB GLAZING STOP GLAZING STOP &
(LAMINATED VENEER) (PONDEROSA PINE) (LAMINATED VENEER) s
o
2.187 2.500 ,
2.187 2
' f
77\
f 0.500 8
0.500 | N
{ / 0
'_
| RADIAL DOQR STOP S S«
(4)LINEAL DOOR_STOP (LAMINATED VENEER) 2312 Z o2
(PONDEROSA PINE) g Zg,l\
) ] 3 < -
L] 0 % :<ZCEQ£
1.750 \\ \ 08: 5%,
' 4.062 al P80
r‘r\’fl_ \ ) § mx Rz"
sf 8
-k 3
N E
2.125 Z |2
& 2
2 <3
1.629 ol & &
N 2| U<
al e% 3:°
5.750 2 & &2,
1.750 ASTRAGAL 2| M3 88
4.750 % Wy £ ]
(LAMINATED VENEER) 43 |,58 §§"§
F3 [z0° 233
o<C |5 .3 82°
N FE-
\ I EEE:
P 2 @8
PRODUCT RENEWED S ey
Erpion ael223059% |15 S\,
on Date id u
: b lcgn i 1 BV NR
. :Lhau
U m:"ﬂ’ ct Contrs é\b

RADIAL DOOR_RAIL
(LAMINATED VENEER)

(12 LINEAL TOP_DOOR RAIL

(PONDERQSA PINE)

DRAWN BY:
K.P.S.

CHECKED BY:
W.W.S.

PLOT: DATE:

1=1 05/13/03

DRAWING NO. JREV.

1228A | A

SHEET NO.

10 oF 12




—

<———-—-—1.750——--’

9.000

DOOR BOTTOM RAIL

(PONDEROSA PINE)

O.718—~‘¢A——_r

4.750

[/

/L

’—-——— 1.750

10

|

[ o JUS—

0.

-

il

~—0.425

0.053

—

FO.BGO

0.916

(17)RADIAL GLASS STOP
(6063—T5 ALUMINUM)

i

0.078 0.81

THRESHOLD

EXTENDER
(6063—T5 ALUMINUM)

¥ NSRS

NAILING FIN
(VINYL)

WOOD STILE
(PONDEROSA PINE)

@ JAMB CLADDING
(6063~T5 ALUMINUM)

OPTIONAL

6063—T5
0.425 —

|-—7

— " T

’VO.BBO

(18) LINEAL GLASS STOP
(6063-T5 ALUMINUM)

[‘.743’1
2 4 #

2.834

0.062

1.026

332 \&

—

MULLION CLIP @

PLATTED MULLION
(6063—T5 ALUMINUM)

6" — 9"

?/ 0.050]

DOOR_SILL

(6063—T5 ALUMINUM)

—| 0350
0.937
0.050 —~ J

@ RAIL_CLADDING

EXTENDER
(2003—H14 ALUMINUM)

0.125" DIA. HOLES

22 ¢ ¢
4 ¢ ¢ 16 GAGE
22 4 &

LR

$ &

¢ ¢

S

2

ll\gSTALLATION CLIP

GALVANIZED STEEL)

Fy = 33 ksi MIN.

10.25" DIA. HOLE

5.672

~—0.050

1

DOOR_TOP

RAIL CLAD
(3003—H14 ALUMINUM)

' 1.187

T 7T

INT. _THRESHOLD TRIM

(PONDEROSA PINE)

@ JAMB CLADDING
—

ALUMINUM)

—t-]

?:

~—0.060

DOOR STILE

CLAD

(6063—-T5 ALUMINUM)

0.250

lvO.EGO

o= 1

8.922

4.558

~—0.050

—_ 1

DOOR BOTTOM

ORAWN BY:

CHECKED BY:

K.P.S. WW.S.

PLOT:

DATE:
05/13/03

1=1

DATE

ay

REVISION DESCRIPTION

NO.

DRAWING TITLE

[0)]
a
~
N
jie}
-
s
O S«
z 38
AN
25
32
a Z25%
7)) z%gco
S| 0%
bo] SO
S| 4550
=] o
Q N
[ o)
o |y Q
ZE b
T £ S
QL
G
4
)
= © 3
[a] r 7
ol ¢ <ep
g H{‘l’ﬁT
ZpE g
(@] CZD AL .,
- >
j Luoggﬁ
© n:%é%
= Wi 58
LoD xo?
2 LWy £
Z | <z 3o
s |,E0 =5R
SlERO oL
| Em s
<58 827
2F 8%u
z . ]
8= z

RAIL CLAD
(3003-H14 ALUMINUM)

PRODUCT RENEWED

85 complying with the Figpi
Bui ding Code e Fiorids
Asceptance NoZ #"0305.00_

Division

CERTIFICATION

ARRE; W.

DRAWING NO.

SCHAEFER, P.E.
P.E. NO. 44135

1228A | A




DRAWN BY: CHECKED ar:
| K.P.S. W.W.S.
MATERIAL LIST , MATERIAL LIST Bor [oRE
PART REF PART REF - 1=1 05,/13/03
No. | NG DESCRIPTION NOTES . | No. DESCRIPTION NOTES i
PARTS & EXTRUSIONS 40 - #6 X 1 5/8" SMS SCREW WITHIN 3" FROM CORNERS & MAX. 6" 0.C. z
1 |PF1010 | LINEAL JAMB WOOD MEMBER SEE NOTE 1 41 - #6 X 3/4" SMS SCREW WITHIN 3" FROM CORNERS & MAX. 12" 0.C.
2 | PF1231 | CURVED JAMB WOOD MEMBER LAMINATED VENEER 42 - #8 X 2" SMS SCREW 3 @ EA. RECTANGULAR JAMB CORNER
3 |PF1358 | WOOD SUBSILL FOR THRESHOLD  |SEE NOTE 1 43 - #8 X 1 1/2" SMS SCREW 3 @ FA. RADIUS JAMB CORNER
z
4 |PF1351 | LNEAL WOOD DOOR STOP SEE NOTE 1 44 - 46 X 3/4” SMS SCREW 2 @ EA. JAMB CLAD CORNER INTO CLAD SPLINES £
5 | PF1351 | RADIAL WOOD DOOR STOP LAMINATED VENEER 45 - 3/8" X 5" LAG BOLT 1 @ TOP STILE & RAIL, 2 BOTTOM STILE & RAIL &
6 |PF1008 | WOOD LINEAL GLAZING STOP SEE NOTE 1 46 - 12 X 3/4" SMS SCREW 4 @ EA. HINGE INTO JAMB (EXCLUDING TOP HINGE &
z
7 |PF1008 | WOOD RADIAL GLAZING STOP LAMINATED VENEER 47 - #12 X 1 1/4” 5.S. SCREW 4 @ EA. HINGE INTO STILE 2
>
8 |PF1169 | WOOD BOTTOM RAIL EXTENDER SEE NOTE 1 : 48A ~  |#12x2 1/2” S.S. OR BRASS SMS 2 @ TOP HINGE ONLY THRU JAMB INTO BUCK g
9 |PF1362 | DOOR THRESHOLD CAP/BUMPER | SEE NOTE 1 48C ~  [1/4"-20 X 3/4" MACHINE SCREW 2 @ TOP HINGE ONLY (WITH T—NUT) =
10 |PF1507 | ASTRAGAL CAP SEE NOTE 1 49 - #10 SMS SCREWS (1 3/8" MIN. BUCK EMBED) WITHIN 4” FROM CORNERS & MAX. 12" O.C. z
11 |PF1130 | RADIAL DOOR TOP RAIL LAMINATED VENEER 50 — | #8 X 1 3/4" SMS SCREW 2" FROM_ASTRAGAL ENDS & MAX. 12" 0.C.
12 | PF1131 | LINEAL DOOR TOP RAIL SEE NOTE 1 51A - #10 SMS SCREWS (MIN. 1 3/8" BUCK EMBED) 2 THRU EA. STRIKE PLATE, JAMB & INTO BUCK %
12 | PF1489 | WOOD ASTRAGAL LAMINATED VENEER 51B - g hﬁ; :AF;C/% éﬁﬁ%’; Ir\éLOBECDO)NCR.) 2 THRU EA. STRIKE PLATE, JAMB & INTO CONCR. 'L‘:\:‘
14 |PF1132 | WOOD BOTTOM RAIL SEE NOTE 1 " : ' S =z
- 6 X 3/4" SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAM ;
15 |PF1130 | WOOD STILE SEE NOTE 1 o £ / ~ 2 SgN
- 8 X 1 1/4” SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAMB = —
16A/B| PF1001/1002 | JAMB CLADS 6063~T5 ALUMINUM # / P o Q
N . <
17 |Pr1017 IRADIAL GLASS STOP 506315 ALUMINUM 53A 1/4” TAPCON (WHEN INTO CONCR.) 2 THRU EA. SILL STRIKE PLATE & INTO CONCRETE 225
(MIN. 1 1/4” CONCR. EMBED) o< T
18 | PF1458 | ALUMINUM LINEAL GLASS STOP 6063—T5 ALUMINUM nl © 230
. 538 —  |#10 SMS SCREW (MIN. 1 3/8" FRAMING EMBED) 2 THRU EA. SILL STRIKE PLATE & INTO FRAMING 81 z =%
19 |PF1086 | 4 9/16” OUTSWING DOOR SILL 6063—T5 ALUMINUM - - sl = s~
544 - 1/4” TAPCON (WHEN INTO CONCR.) WITHIN 4" OF CORNERS & MAX. 12" 0.C. 3 SO
20 |PF1083 | THRESHOLD EXTENDER 6063—T5 ALUMINUM (MIN. 1 1/4" CONCR. EMBED) ol £ @5
22 | PF1295 | INTERIOR THRESHOLD TRIM " M
SEE NOTE 1 548 | — | #10 S/STL SCREWS (MIN. 1 3/8" FRAMING EMBED) WITHIN 4” OF CORNERS & MAX. 12" O.C. 51 < <2
23 |PF1172 | BOTTOM RAIL EXTENDER CLADDING |3003—H14 ALUMINUM <= o)
55 #10 X 1.5" SMS SCREW (SIDE JAMB TO MULL PLATE) | 4” FROM CORNERS & MAX. 12" O.C. L & a
24 |PF1135 | TOP RAIL CLAD 3003-H14 ALUMINUM = = = z
- 10 X 2 1/2" SMS SCREW 4” FROM CORNERS & MAX 12" 0.C. e
25 |PF1134 | STILE CLAD 6063—T5 ALUMINUM = 1 / T 5 t
- 8 X 1 3/4" SMS 3" FROM CORNERS & MAX 12" O.C.
26 |PF1136 | BOTTOM RAIL CLAD 3003—-H14 ALUMINUM — # / Z z
- 8 X 1" SMS SCREW 3" FROM CORNERS & MAX. 8" 0.C.
27 |PF1214 | VINYL NAIL FIN OPTIONAL WITH SHEAR SCREW INSTALLATION i - x 0
PF1326 578 - #8 X 2 1/2" SMS SCREW 3" FROM CORNERS & MAX 12" 0.C. A g , ¢
= =1 i
28 | SK1031 |GALVANIZED 16 GA. STEEL GALVANIZED STEEL, INC. (Fy = 33 ksi MIN.) SEALANTS S| & . azF
INSTALLATION CLIP WITHIN 4” OF CORNERS & 12" MAX. O.C. 58 _ DOW 995 SILICONE FOR 1/2” GLAZING BITE = | Y<g B
=a 5,8
30 |SK1156 |FIVE KNUCKLE FULL MORTISE HINGE| STANLEY NO. FBB191; STAINLESS STEEL 59 - DOW 1199 STRUCTURAL SIiLICONE ADHESIVE CONT. CLADDING TO JAMB & DOOR STOP TO JAMB af @ s,
(4 PER DOOR PANEL) OTHER 3 g gg
Q gia
31A - - FE
G- US TRIM SERIES 2000 HANDLE| USE WITH PART #32 LOCKING HARDWARE (BRASS) 60 - NORTON NORGLAZE .0625" X .437" GLAZING TAPE POLYOLEFIN FOAM W/ ACRYLIC ADHESIVE = ;5_’:3) ;%g
31B |SK1415 |[W&F MFG. SERIES 1200 LOCKSET |INCLUDES HANDLE & SINGLE DEAD BOLT (BRASS) p” - NGO 440 BUTYL TAPE GASKET TRIM OFF AT EDGES (IYP. AT JAMB CLAD CORNERS 2 Wp EL]
32 - G—U 3-POINT DOOR LOCKSET US TRIPACT DOOR BOLT SYS. (USE WITH #31A) p SCHLEGEL W= 1, (338 Egﬁi
PF1371 | FRA RS = |2 ;2L
33 |SK1193 |KML INTERIOR FLUSH BOLT 1 TOP & BOTTOM EACH DOOR PANEL INTERIOR FRAME WEATHERSEAL :?( 20 e 3k
" " o . -3
34 |SK1597 |0.945”X2.25"X0.078" STL STRIKE |1 AT EACH FLUSH BOLT STRIKE (HEAD & SILL) 56 |PF1026 | 0.415" X 0.489" RAINSKIRT SCHLEGEL EXTRUDED FLEXIBLE COPOLYMER = 2F 8%y
PLATE (Fy = 33 ksi MIN.) NICKEL PLATED STEEL SR P z
&} Q o
35 |SK1598 |4"X12" X1/8" STEEL STRIKE PLATE {LOCATED AT CENTER/TOP OF HEAD JAMB : ’
(MIN. ASTM A446 GRADE A STEEL) |NICKEL PLATED OR PAINTED STEEL WOOD USED IN TESTING WAS PONDEROSA PINE. OTHER WOOD SPECIES APPLICABLE FOR USE WITH THIS L
FAST PRODUCT ARE THOSE WITH A SPECIFIC GRAVITY OF 0.43 AND MODULUS OF ELASTICITY OF 1,200,000 PSI o
STENERS OR GREATER. ALL WOOD IS MINIVUM GRADE 2 MILLED BY KML WINDOWS, INC. 7O SELECT. S .
36 - #8 X 1 1/4" SMS SCREW OR WITHIN 4” FROM ENDS & MAX. 10 1/2" OC. PRODUCT RENEWED o o
1 5/8" DRYWALL SCREW WITH FIN 8s complying with te Florida g o E
- Buiding ¢ = @
37 - |#8 x 1 1/4” SMS SCREW 2 PER CLIP INTO BUCK (1 EA. SIDE OF BUCK) Amp';fn(“;:d,:e 65-0305.02. =l e :
o o
38 - #8 X 5/8" PAN HEAD SMS SCREW| 3 PER CLIP INTO JAMB Expiratica mﬂm:zolw w &5
39 - 3/8” LONG STAPLE WITHIN 3" FROM CORNERS & MAX. 8" 0.C. By a4 | l aulde -
Diviston
DRAWING NO. |[REV.
1228A A
SHEET NO.
12 oF 12




